ER 2 OfEICTT S h =Tl #R
el e e e e e =
= dLmE (ﬁ'%ﬁ) FEFE?EEJ% 2,961
1{20.2.3 | EEHET TR FEI T {7t #r4 8,509|  81.48% %‘fgi Eﬁ%ﬁi FEIEG T 1,583
iR (G - ) LRI 1,542
Law% 770
3o 5ol LEA ZA
2(20.2.3  |FEEFHET RT3 /R [ R 2(" 7 - - JE1 g
PR
3|20.3.2  |FHRET LIRSS R 1|32 #2 6.639| 67 78%| “EEQ%; Eﬁigi /Ef%féﬁ%g 2, 560
EAR B 1,848
" LEA A
- . 16 EH12 o B2 2
4]20.4.6  |JKBERT T 3% R T 14 4 25,825  59.15% RS B AL
ARF2 RER2
5(20.4.20 |FAEFEAR |FE T 1|3t 1 - - Y pEmE (& B) i
6/20.5.18 |&F=H MR (R8T 1|31 #71 — - Y gEBA E -8 g
. Et:JNIB N
o = e . : 2 tl B0 6
7(20.5.18 |&FEH BiE 3 B et R 1 51 55,541  18.50% R B AN
A2 RER]
N - a2 m uogmmn ogem (REL
8[20.5. 18 | 1LiA: : (EHA T 1 3,875  84.98% inn (e ZEMRAIA 2,509
8 1 KREEE (% - F0) KAENE 678
920.6.8  |#HATH MR [T 1|32 #e 26,264 | 62, 06%| fggﬁ!éﬁ; .(ﬁ), . ’%%%éﬂ% 8, 462
TR EAESER 7, 446
Et: JNERUN
10(20. 6.8  |#HATHT Ot fERMH K 1|3t2 #2 26, 264 62. 02%| %1
BEi1
11[20. 7.6 |JIl B&f HE T 1|3t 1 - - Y RE—Z (& B) e
" < o BEH
i = Eﬁii Eﬁgi EEEE 1,711
12|20.7.20 |==ERT IE=S R T 134 #4 6, 446 69. 845 pir=w (.o TEATEZ 1431, 43
MDE% (i - ) WERHES  1115.569
(0 IE#E 76
33 5E1 LA 2A
13[20.7.20 |=s=mr B35 Hix 2|® %z 6,446 |  69.80% FE1 il
EPTR2
14(20. 10. 26 | &I DiE=3 T 1‘“” ;’%} 28, 556 59.45%|% (LI FFOAR (4% - ) LFFIFR 8, 909
HFEE (&5 HIIFEE 7,686
Et: JNERUN
15(20. 10. 26 | &5k Ot R 11343 73 28, 556 59. 45%| JT1
ERTEL
16(20. 11. 16 | FHiET BT & T 1|31 #1 — — 4 HERRS (E-B) e
17(20. 11. 23 | EAbILUAT  |[FHE FEBI T 1|31 #H1 - - Y fwmEh (E-BR) g
shg 4 LEAN SA
18[20. 11. 30 | K114+ G T ] — — B4 H4 i
i ERRS




